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Q. No. 1. What do we get when 38.9782 is rounded off up to 4 significant figures ?
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Determine the value of A*f (x ) wheref(x )=(5x+2)(x—2)(x+1)(4x—1)and
the difference is 1.
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Using the following table, determine the value of f ( 2.8 ):
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Which interpolation formula can be used for unequally spaced interpolating points
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Using Divided Difference formula, find the root of the equation x> —sin x =0 lying in
the interval (0.8, 0.9 ) correct up to 4 significant figures.
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What are the degrees of precision of the formulae for numerical integration —
Trapezoidal rule, Simpson’s 1/3 rule & Weddle’s rule respectively ?
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Find a real root of the equation e*— 3 x = 0 lying between 1 and 2 correct up to three
significant figures using Bisection method.
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Using the method of Regula-falsi, find a real root of the equation x3 +2x—2=0
correct up to 4 significant figures.
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State the condition of convergence of Iteration method of numerical solution of
equation.
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What is the condition of convergence of Newton-Raphson method of solution of an
equation?
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Find the roots of the equation tan x + x = 0 by Newton- Raphson method, correct up
to 3 significant figures.
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What is the inverse of a square matrix A ?
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Using iteration method single time , which eigen values of a matrix numerically can
be obtained?
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Write the names of the methods of solving system of linear equations numerically.

@RF ANFATRET TRAF TEET Tofesf @ |

Find the value of y (0.02 ) correct up to 4 decimal points from the differential
equation dy/dx =x3+y, y ( 0) = 1 taking step length h = 0.01 using Euler’s formula.
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